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1 2 3
30 20 40 40 30 40
0.3 0.3 0.4 |
0.7 0.3 0.7 0.3 0.7 0.3 | ... | ...
2003010*** 26 18 38 37 24 39
** ** 27 19 36 38 20 38
** *x 20 17 24 35 26 34




*% o [ O K R,
** **
**% **%
**% **%
*% **%
*% **%
** **
** **
** **

25.67 18.25 34.26 37.35 21.58 37.68

0.87 = 25.67/30% 0.88 = 34.26/40% 0.80 = 21.58/30%
0.7+18.25/20x 0.3 0.7+37.35/40% 0.3 0.7+37.68/40% 0.3

P= imjﬁ

= 0.85 = 0.87x 0.3+0.88x 0.3+0.80x 0.4
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1 2 3
30 20 40 40 30 40
0.3 0.3 0.4 |
0.7 0.3 0.7 0.3 0.7 0.3 | oo | il
2003010*** 26 18 38 37 24 39
** *x 27 19 36 38 20 38
** w* 20 17 24 35 26 34
25.67 18.25 34.26 37.35 21.58 37.68
0.87 = 25.67/30x 0.88 = 34.26/40x 0.79 = 21.58/30x
0.7+18.25/20x 0.3 0.7+37.35/40x 0.3 0.7+437.68/40x 0.3 |
P= i(ﬁ)}ﬁ
- 0.84 = 0.87x 0.3+0.88x 0.3+0.79x 0.4
1.
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100 100
1
1 = 25.67/30 x 0.7+ 18.25/20 x 0.3=0.87
3.
@]
n |
P(i=1.2.L .n)
P= , a P
i=l
= 1 X 1 + 2
X 2 + 3 X 3

= 0.87x 0.3+0.88% 0.3+0.79x 0.4 = 0.84

4.

H=3 M=2 L=1 A 3
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1 2.1...... H
4.2...... H
2 3.2...... M
3 5.1...... L
5.2...... L
= 1
+ 2 3
+
= H+H / H+HM+L+L = 3+3 / 3+3+2+1+1 =0.6
A
2
0.6 0.2 0.2
2022 7 13
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